COMMITTEE'S R	REPORT
----------------------	--------

(filed by committees that support or oppose one or more candidates and/or propositions and that are not candidate committees)

	· · · /
1. Full Name and Address of Political Committee	OFFICE USE ONLY
REPUBLICAN PARTY OF LOUISIANA - STATE	Report Number: 104550
530 Lakeland Dr Ste 215	Date Filed: 7/8/2022
Baton Rouge, LA 70802	Report Includes Schedules:
2. Date of Election	Schedule A-1
	Schedule C Schedule E-1
This report covers from 6/1/2022 through 6/30/2022	Schedule E-4
3. Type of Report:	
180th day prior to primary 40th day after general	
90th day prior to primary Annual (future election)	
30th day prior to primary X Monthly	
10th day prior to primary	
Amendment to prior	
4. All Committee Officers (including Chairperson, Treasurer, if any, and any other committee)	ee officers)
a. Name b. Position c. Address	
GURVICH LOUIS Chairperson 1532	ELEONORE ST
New	Orleans, LA 70115
DUHON DEXTER Treasurer 114 S	S State St
Abbe	ville, LA 70510
5. Candidates or Propositions the Committee is Supporting or Opposing (use additional sh	eets if necessary)
a. Name & Address of Candidate/Description of Proposition b. O	ffice Sought c. Political Party d. Support/Oppose
6. Is the Committee supporting the entire ticket of a political party? X Ye	s No If "yes", which party? Republican
6. Is the Committee supporting the entire ticket of a political party? X Ye	s No If "yes", which party? Republican
7. a. Name of Person Preparing Report VANDERBROOK WILLIAM	
b. Daytime Telephone	
8. WE HEREBY CERTIFY that the information contained in this report and the attached so information and belief, and that no expenditures have been made nor contributions receive	
required to be reported by the Louisiana Campaign Finance Disclosure Act has been delib	
This Oth day of July 0000	
This 8th day of July, 2022.	
LOUIS GURVICH	5049087130
Signature of Committee/Chairperson	Daytime Telephone
<u>DEXTER DUHON</u> Signature of Committee Treasurer, if any	3378932702 Daytime Telephone

Form 202, Rev. 3/98, Page Rev. 5/01

SUMMARY PAGE

RECEIPTS	This Period
1. Contributions (Schedule A-1)	\$ 96,500.67
2. In-kind Contributions (Schedule A-2)	\$ 0.00
3a. Campaign paraphernalia sales of \$25 <i>or less</i>	\$ 0.00
3b. Raffle ticket sales of \$25 or less	\$ 0.00
4. TOTAL CONTRIBUTIONS (Lines 1 + 2 +3a + 3b)	\$ 96,500.67
5. Other Receipts (Schedule A-3)	\$ 0.00
6. Loans Received (Schedule B)	\$ 0.00
7. Loan Repayments Received (Schedule D)	\$ 0.00
8. TOTAL RECEIPTS (Lines 4 + 5 + 6 + 7)	\$ 96,500.67

DISBURSEMENTS	This Period
9. General Expenditures (Schedule E-1)	\$ 37,022.57
10. In-Kind Expenditures (Schedule E-2)	\$ 0.00
11. Contributions made to Candidates (Schedule E-3)	\$ 0.00
12. TOTAL EXPENDITURES (Lines 9 + 10 + 11)	\$ 37,022.57
13. Other Disbursements (Schedule E-4)	\$ 150.00
14. Loan Repayments Made (Schedule B)	\$ 0.00
15. Funds Loaned (Schedule D)	\$ 0.00
16. TOTAL DISBURSEMENTS (Lines 12 + 13 + 14 + 15)	\$ 37,172.57

FINANCIAL SUMMARY	Amount	
17. Funds on hand at beginning of reporting period (Must equal funds on hand at close from last report or -0- if first report for this committee)	\$ 25,238.92	
18. <i>Plus</i> total receipts this period (<i>less</i> in-kind contributions received) (Line 8 above minus line 2 above)	\$ 96,500.67	
19. Less total disbursements this period (less in-kind expenditures) (Line 16 above minus line 10 above)	\$ 37,172.57	
20. Funds on hand at close of reporting period	\$ 84,567.02	

SUMMARY PAGE (continued)

INVESTMENTS	Amount
21. Of funds on hand at beginning of reporting period (Line 17, above), amount held in investments (i.e., savings accounts, CD's, money market funds, etc.)	\$ 0.00
22. Of funds on hand at close of reporting period (Line 20, above), amount held in investments	\$ 0.00

SPECIAL TRANSACTIONS	This Period
23. Contributions received from political committees (From Schedules A-1 and A-2)	\$ 800.00
24. All proceeds from the sale of tickets to fundraising events (Receipts from the sale of tickets are contributions and must also be reported on Schedule A-1)	\$ 67,543.00
25a. Proceeds from the sale of campaign paraphernalia (Total receipts from the sale of campaign paraphernalia are reported on Schedule A-1 or Line 3a above)	\$ 0.00
25b. Proceeds from the sale of raffle tickets (Total receipts from the sale of raffle tickets are reported on Schedule A-1 or Line 3b above)	\$ 0.00
26. Expenditures from petty cash fund (Must also be reported on Schedule E-1)	\$ 0.00

NOTICE

A political committee must register in each calendar year in which it will have over \$500 of financial activity. The registration is accomplished by filing a Statement of Organization form and paying the \$100 filing fee. Statements of Organization are filed annually by January 31. Any committee which realizes that it will have over \$500 of financial activity after January 31 must register within ten days of its realization of that fact. However, if this occurs during the ten day period prior to an election the Statement of Organization must be filed within three days.

Political committees must file reports of receipts and disbursements on an annual basis. Annual reports are due by February 15 and should cover the preceding calendar year. Also, committees must file reports of receipts and disbursements on the same schedule as the candidates it supports or opposes. Reports are also due in connection with propositions (ballot issues) the committee supports or opposes. Schedules of reporting and filing dates for all elections are available from the Campaign Finance Office.

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
TOBY AGUILLARD 307 Brentwood Blvd Lafayette, LA 70503-3915	06/25/2022	\$45.00	\$190.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
TOBY AGUILLARD 307 Brentwood Blvd Lafayette, LA 70503-3915	06/25/2022	\$45.00	\$190.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
BRAD ALLIS 307 Vanburg PI Lafayette, LA 70508	06/22/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
SYBIL ALLIS 307 Vanburg PI Lafayette, LA 70508	06/22/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JOSH ALLISON 67 Oaklawn Drive Covington, LA 70433	06/25/2022	\$150.00	\$150.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
REMY AMEDEE 143 South Church Street Garyville, LA 70051	06/14/2022	\$15.00	\$240.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 345.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only	y on last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)]
AMERICAN ELECTRIC POWER 1 Riverside PI 26th Columbus, OH 43215-2355	06/23/2022	\$5,000.00	\$10,000.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
TERRI ANDERSON 126 Merida Drive Lafayette, IA 70506	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
WINSTON ANGERS 116 Teche Drive Lafayette, LA 70503	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
FRANK ARENA 54 Preserve Lane Mandeville, LA 70471-2937	06/06/2022	\$75.00	\$895.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
FRANK ARENA 54 Preserve Lane Mandeville, LA 70471-2937	06/25/2022	\$45.00	\$895.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
STEPHANIE ARMENTOR 1203 Hugh Wallis Road South Lafayette, LA 70508	06/02/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)	- 	\$ 5,279.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only o	n last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Repo	2. Contributions this Reporting Period	
	a. Date(s)	b. Amount(s)]
GORDON ATWELL 35635 Woodland Ridge Drive Denham Springs, LA 70706	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
THERESE ATWELL 35635 Woodland Ridge Drive Denham Springs, LA 70706	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
MARGARET AUBIN Rustling Oak Drive Prairieville, LA 70769	06/08/2022	\$69.00	\$94.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
ROSEMARY AZAR PO B0x 51603 lafayette, LA 70505	06/22/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
TIM BABIN 510 North Burnside Avenue Gonzales, LA 70737	06/04/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
TIM BAKER 130 Teche Drive Lafayette, LA 70503	06/25/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
4. SUBTOTAL (this page)		\$ 318.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES	ONLY:		
SUBTOTAL (this page)	\$ 0.00 TOTAL (complete only	on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor		2. Contributions this Reporting Period		3. Total this Year
		a. Date(s)	b. Amount(s)	
JANET BARON 10280 West Winston Avenue Baton Rouge, LA 70809		06/09/2022	\$99.00	\$99.00
POLITICAL COMMITTEE? PART	Y COMMITTEE?			
STEVEN BARRAS PO Box 11207 New Iberia, LA 70562-1207		06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PART	Y COMMITTEE?			
MICHAEL BAYHAM PO Box 1866 Chalmette, LA 70044-1866		06/08/2022	\$69.00	\$319.00
POLITICAL COMMITTEE? PART	Y COMMITTEE?			
WILLIAM BEARDEN 1018 Sterling Oaks Blvd Slidell, LA 70461-5356		06/11/2022	\$10.00	\$100.00
POLITICAL COMMITTEE? PART	Y COMMITTEE?			
GERALD A. BEAULLIEU, IV 4109 WALNUT DR New Iberia, LA 70563-3344		06/29/2022	\$75.00	\$219.00
POLITICAL COMMITTEE? PART	Y COMMITTEE?			
GERALD A. BEAULLIEU, IV 4109 WALNUT DR New Iberia, LA 70563-3344		06/29/2022	\$45.00	\$219.00
POLITICAL COMMITTEE? PART	Y COMMITTEE?			
4. SUBTOTAL (this page)			\$ 343.00	N/A
5. TOTAL (complete only on last page of	this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL	COMMITTEES ONLY:			
SUBTOTAL (this pag	ge) \$ 0.00	TOTAL (complete only or	last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
JAMES BECKEMEIER 13421 Manchester Road Saint Louis, MO 63131	06/08/2022	\$5,000.00	\$5,000.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
ALLY ROSE BECKER 16 Washington Street Eureka Springs, AR 72632	06/07/2022	\$138.00	\$138.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
GRADY BERGERON 890 S Tinley Dr. Baton Rouge, LA 70815	06/02/2022	\$60.00	\$60.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
RACHEL BERTRAND 3018 Hetzel Road Crowley, LA 70526	06/13/2022	\$35.00	\$35.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
RITA BEZOU PO Box 641474 Kenner, LA 70064-1474	06/11/2022	\$8.25	\$315.75
POLITICAL COMMITTEE? PARTY COMMITTEE?			
BETH BILLINGS 18 Landsdowne Lane Destrehan, LA 70047	06/25/2022	\$100.00	\$100.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)	-	\$ 5,341.25	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only	on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor		2. Contributions this Reporting Period		3. Total this Year
		a. Date(s)	b. Amount(s)	1
BETH BILLINGS 18 Landsdowne Ln Destrehan, LA 70047-2013		06/28/2022	\$75.00	\$2,913.63
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
BETTI BIRKENMEIER 107 Doyle Drive Lafayette, LA 70508		06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
FRANK BLACK 170 Hazel Road Baskin, LA 71219		06/24/2022	\$15.00	\$250.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
FRANK BLACK 170 Hazel Road Baskin, LA 71219		06/24/2022	\$135.00	\$250.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
CHERI BLANCHARD 3389 Caleb Drive Houma, LA 70360-7713		06/13/2022	\$198.00	\$288.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
JONI BONI 504 Robert Lee Circle Lafayette, LA 70506		06/25/2022	\$90.00	\$90.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
4. SUBTOTAL (this page)			\$ 558.00	N/A
5. TOTAL (complete only on last p	age of this schedule)			N/A
6. CONTRIBUTIONS FROM POL	ITICAL COMMITTEES ONLY:			
SUBTOTAL	(this page) \$ 0.00	TOTAL (complete only of	n last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)]
CHAD BONNET 1100 Homestead Avenue Metairie, LA 70005	06/06/2022	\$90.00	\$540.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
CHAD BONNET 1100 Homestead Avenue Metairie, LA 70005	06/25/2022	\$450.00	\$540.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
KAREN BORDELON 311 North Westpointe Circle Lafayette, LA 70506	06/02/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
RAYMOND BORDELON 3804 Metairie Heights Avenue Metairie, LA 70002	06/25/2022	\$50.00	\$50.00
POLITICAL COMMITTEE? PARTY COMMITTEE? PARTY COMMITTEE?			
PAM BOUDREAUX 105 Crestmont Boulevard Youngsville, LA 70592-5653	06/24/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
TERRIE BOURGEOIS 104 Breezeway Lane Des Allemands, LA 70030	06/13/2022	\$99.00	\$99.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 824.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only of	on last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
ROYA BOUSTANY 308 Brentwood Boulevard Lafayette, LA 70503-3916	06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JOHN BOYKIN 113 Thompson Loop Lafayette, LA 70506	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JERRY BOYLES 1009 2nd Street Morgan City, LA 70380	06/10/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
RICHARD BROUSSARD 206 Lepinay Road Lafayette, LA 70508	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DOUGLAS BROWN 208 Capilano Lane Broussard, LA 70518	06/13/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JOHN R. BRUHL 15267 Johns Rd Folsom, LA 70437-3330	06/23/2022	\$300.00	\$300.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)	-	\$ 525.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00) TOTAL (complete on	ly on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor		2. Contributions this Reporting Period		3. Total this Year
		a. Date(s)	b. Amount(s)	
CHARLES BUCKELS 202 Sommerset Dr Lafayette, LA 70506-5716		06/14/2022	\$15.00	\$475.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
TOM BULLIARD P.O. Box 216 St. Martinsville, LA 70582		06/25/2022	\$45.00	\$45.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
AUBIN BUQUET 315 Timberwood Circle Lafayette, LA 70508		06/08/2022	\$138.00	\$138.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
HUGH F. CAFFERY 129 Valentine Dr LOCKPORT, LA 70374		06/09/2022	\$138.00	\$1,476.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
HUGH F. CAFFERY 129 Valentine Dr LOCKPORT, LA 70374		06/09/2022	\$138.00	\$1,476.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
BERT CALLAIS 363 East Saint Francis Street Brusly, LA 70719		06/08/2022	\$138.00	\$138.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
4. SUBTOTAL (this page)			\$ 612.00	N/A
5. TOTAL (complete only on last page	e of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITIC	CAL COMMITTEES ONLY:			
SUBTOTAL (thi	is page) \$ 0.00	TOTAL (complete only or	n last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Rep	2. Contributions this Reporting Period	
	a. Date(s)	b. Amount(s)	
MARK CAMPO 704 Roder Street Berwick, LA 70342	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JAN CARBONI 110 Arapahoe Drive Lafayette, LA 70503	06/24/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JOSHUA P. CARLSON 209 Sandhurst Dr. Lafayette, LA 70508-6539	06/24/2022	\$45.00	\$245.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
LEE CARRICUT 217 Oakwood Drive Lafayette, LA 70503-4435	06/24/2022	\$100.00	\$100.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JUDY CASTILLE 123 North Long Street Lafayette, LA 70506	06/02/2022	\$138.00	\$138.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JEFF CAVELL 317 West Northern Avenue Crowley, LA 70526-2845	06/24/2022	\$45.00	\$80.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 463.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY	•		
SUBTOTAL (this page) \$ 0.0	00 TOTAL (complete only	y on last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor		2. Contributions this Reporting Period		3. Total this Year
		a. Date(s)	b. Amount(s)	
KEVIN CAVELL 4009 Mayflower Blvd Alexandria, LA 71303-2914		06/14/2022	\$75.00	\$610.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
CHRISTIAN R. CHAPMAN 114 PECK BLVD LAFAYETTE, LA 70508		06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
EDWIN CHAPMAN 114 PECK BLVD LAFAYETTE, LA 70508		06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
KIP COLTRIN 7526 Louisiana 1133 Sulphur, LA 70665		06/09/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
MISTI CORDELL 2603 Pargoud Boulevard Monroe, LA 71201-2330		06/02/2022	\$1,000.00	\$2,360.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
ANN CORMIER 116 Hamlet Lane Lafayette, LA 70508		06/25/2022	\$135.00	\$135.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
4. SUBTOTAL (this page)			\$ 1,345.00	N/A
5. TOTAL (complete only on last page of this so	chedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMI	MITTEES ONLY:			
SUBTOTAL (this page)	\$ 0.00	TOTAL (complete only o	n last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
EDDIE CORMIER 2025 Nursery Highway Saint Martinville, LA 70582-6218	06/24/2022	\$250.00	\$250.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
ANGELA COSTILLA 211 Durham Drive Lafayette, LA 70508	06/11/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JEAN-PAUL COUSSAN 113 Bernice Ave Lafayette, LA 70503-3101	06/13/2022	\$45.00	\$295.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
LINDA CREEL 619 Highway 1204 Ball, LA 71405	06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
MICHAEL CROCHET 100 Harolyn Park Drive Lafayette, LA 70503	06/23/2022	\$45.00	\$85.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
MICHAEL CROCHET 100 Harolyn Park Drive Lafayette, LA 70503	06/25/2022	\$40.00	\$85.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 515.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only	on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Rep	2. Contributions this Reporting Period	
	a. Date(s)	b. Amount(s)	
CSRS INC. 6767 Perkins Road Suite 200 Baton Rouge, LA 70808-4257	06/23/2022	\$5,000.00	\$6,000.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
JASON CULLINS 3704 Louisiana Ave Lafayette, LA 70507-4848	06/24/2022	\$45.00	\$195.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
ALEATHEA DAIGLE 116 Tall Oaks Lane Youngsville, LA 70592	06/07/2022	\$138.00	\$138.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
DAVID L. GUERRY APLC 3080 Svendson Dr. Baton Rouge, LA 70809-1572	06/23/2022	\$1,000.00	\$2,000.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
SAMANTHA DE CASTRO 2505 Elise Avenue Metairie, LA 70003-1954	06/16/2022	\$9.75	\$146.25
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
LINDE DEAN 103 Nickerson Parkway Lafayette, LA 70501	06/25/2022	\$45.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?	_		
4. SUBTOTAL (this page)		\$ 6,237.75	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES	S ONLY:		
SUBTOTAL (this page)	\$ 0.00 TOTAL (complete only	y on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor		2. Contributions this Reporting Period		3. Total this Year
		a. Date(s)	b. Amount(s)	
LINDE DEAN 103 Nickerson Parkway Lafayette, LA 70501		06/25/2022	\$45.00	\$90.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
CARSON DELARUE 19251 Highland Road Baton Rouge, LA 70809		06/25/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
BETTY DELOACH 403 Claystone Road Youngsville, LA 70592		06/23/2022	\$45.00	\$90.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
BETTY DELOACH 403 Claystone Road Youngsville, LA 70592		06/25/2022	\$45.00	\$90.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
DAN DENSON 1109 Theriot Rd Lake Charles, LA 70611-6241		06/05/2022	\$9.75	\$422.25
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
RICHARD DESADIER 305 Homer rd Minden, LA 71055		06/08/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
4. SUBTOTAL (this page)			\$ 258.75	N/A
5. TOTAL (complete only on last page of this so	hedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMP	MITTEES ONLY:			
SUBTOTAL (this page)	\$ 0.00	TOTAL (complete only o	n last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
DALE DESONIER 917 Contraband Lane Lake Charles, LA 70605-1434	06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JOELLE DOGUET 359 Superior Rd Church Point, LA 70525	06/13/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DARRELL DOIRON 143 Shady Oaks Dr Lafayette, LA 70506-5534	06/29/2022	\$50.00	\$50.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JAMES DOMINGUE 3305 Lafayette, LA 70507	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
TESSY DOMINGUE 100 Harry Street Lafayette, LA 70507	06/25/2022	\$25.00	\$50.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
TESSY DOMINGUE 100 Harry Street Lafayette, LA 70507	06/25/2022	\$25.00	\$50.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)	•	\$ 280.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only of	on last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Re	2. Contributions this Reporting Period	
	a. Date(s)	b. Amount(s)	
THERESA DOMINGUE 100 Harry Street Lafayette, LA 70507	06/08/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
CYNTHIA DORE 139 Enchanted Oak Blvd Lafayette, LA 70508-5529	06/09/2022	\$75.00	\$3,022.50
POLITICAL COMMITTEE? PARTY COMMITTEE?			
TIRZAH DOUGLAS 7654 Ashland Court Clinton, LA 70722	06/25/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
KIM DUGDALE 1421 Williams Road Choudrant, LA 71227	06/15/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DEREK DUHON 118 Eugenie Drive Duson, LA 70529-4316	06/15/2022	\$15.50	\$93.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
BRETT DUNCAN 975 Oak Hollow Drive Hammond, LA 70401	06/01/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 339.50	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.0	TOTAL (complete on	ly on last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)]
ROBY DYER 3340 Miller Lane Lake Charles, LA 70605-0152	06/10/2022	\$75.00	\$735.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
THERESA ELLENDER 239 Highway 55 Bourg, LA 70343-5203	06/14/2022	\$75.00	\$510.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
SONJA ELLIS 867 Interstate 49 Frontage Road Sunset, LA 70584	06/22/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
XAVIER ELLIS 2438 Jake Drive Opelousas, LA 70570	06/01/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
ARMANDO ESCALANTE 461 Sweet Gum Drive Kyle, TX 78640	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
EILEEN ESCALANTE 461 Sweet Gum Drive Kyle, TX 78640	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 330.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only o	n last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
DANIEL TODD ESCALONA 128 Teche Drive Lafayette, LA 70503	06/22/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
ERIC EVANS 13130 Jolissaint Drive Baton Rouge, LA 70810	06/25/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
EZELL LAW FIRM LLC 10761 PERKINS RD SUITE A Baton Rouge, LA 70810-1694	06/23/2022	\$300.00	\$6,300.00
POLITICAL COMMITTEE? PARTY COMMITTEE? PARTY COMMITTEE?			
GLENDA FANGUY 113 Shelly Court Houma, LA 70364	06/10/2022	\$99.00	\$99.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
RUSSELL FERGUSON 1080 HWY 384 LAKE CHARLES, LA 70607	06/22/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
MONA FITZGERALD STEPHAN 136 Fletcher Lane Lafayette, LA 70503	06/22/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)	-	\$ 579.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only o	n last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
KENDALL FONTENOT 1228 North Larriviere Road Youngsville, LA 70592	06/08/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
RICHARD FORET 109 Jehnna Dave Drive Youngsville, LA 70592	06/25/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DEREK FOSSIER 700 Commerce Street New Orleans, LA 70130-3674	06/24/2022	\$45.00	\$144.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
GEORGE FRANCIS 1623 Glen Eagles Bend Zachary, LA 70791-5447	06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
MAUREEN FRANCIS 707 Cobblestone Road Lafayette, LA 70508	06/25/2022	\$30.00	\$30.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JO ANN FRANKLIN 4370 Beech Drive Lake Charles, LA 70611	06/11/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)	-	\$ 279.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only of	on last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contribute	or	2. Contributions this Reporting Period		3. Total this Year
		a. Date(s)	b. Amount(s)	1
FRIENDS OF BEAU 152 W. Main St. New Iberia, LA 70560-3871		06/29/2022	\$500.00	\$1,500.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
FRIENDS OF JAN SCOTT RIC 311 Riner Dr Scott, LA 70583-5659	HARD	06/01/2022	\$500.00	\$500.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
E C GABEHART 4414 Hwy 90 W New Iberia, LA 70560		06/06/2022	\$138.00	\$138.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
MICHELE GAUDIN 866 City Park Avenue New Orleans, LA 70119		06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
BARBARA R. GIRARD 214 Bell Downs Dr. Lafayette, LA 70506-6038		06/22/2022	\$45.00	\$195.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
JOHN GIRARD 214 Bell Downs Drive Lafayette, LA 70506		06/22/2022	\$45.00	\$45.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
4. SUBTOTAL (this page)			\$ 1,273.00	N/A
5. TOTAL (complete only on last pa	age of this schedule)			N/A
6. CONTRIBUTIONS FROM POLI	TICAL COMMITTEES ONLY:			
SUBTOTAL ((this page) \$ 0.00	TOTAL (complete only or	n last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Rep	2. Contributions this Reporting Period	
	a. Date(s)	b. Amount(s)	
LISA GLASS 203 hamlet lane Lafayette, LA 70508	06/14/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
LEGENA T. GORE 8940 Highway 71 N Dry Prong, LA 71423-8723	06/28/2022	\$100.00	\$4,560.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
LYNN C. GRAHAM 6215 ESPLANADE AVE Baton Rouge, LA 70806-6144	06/13/2022	\$50.00	\$85.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DAVID GREEN 407 La Compagne St Opelousas, LA 70570-0200	06/16/2022	\$5.00	\$80.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
MICHAEL GREMILLION 4423 Hwy 71 Colfax, LA 71417	06/04/2022	\$35.00	\$35.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
PAT GRENEAUX 103 Hunters Lane Lafayette, LA 70507	06/10/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)	-	\$ 325.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only	y on last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

1. Name and Address of Contributor		2. Contributions this Repor	ting Period	3. Total this Year
		a. Date(s)	b. Amount(s)	
JANE GRIFFIN 157 Heidi Lane Thibodaux, LA 70301-7210		06/07/2022	\$900.00	\$1,110.00
POLITICAL COMMITTEE? PA	ARTY COMMITTEE?			
L. LANE GRIGSBY PO BOX 104 Baton Rouge, LA 70821-0104		06/15/2022	\$25,000.00	\$25,099.00
POLITICAL COMMITTEE? PA	ARTY COMMITTEE?			
ED GROS 601 Rue Carnot Carencro, LA 70520-5321		06/29/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PA	ARTY COMMITTEE?			
JANIS GUILBEAU 123 Kristen Lane Lafayette, LA 70508-6366		06/22/2022	\$45.00	\$90.00
POLITICAL COMMITTEE? PA	ARTY COMMITTEE?			
JANIS GUILBEAU 123 Kristen Lane Lafayette, LA 70508-6366		06/22/2022	\$45.00	\$90.00
POLITICAL COMMITTEE? PA	ARTY COMMITTEE?			
DAYLE GUILLORY 209 Hermitage Avenue Lafayette, LA 70503		06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PA	ARTY COMMITTEE?			
4. SUBTOTAL (this page)		- <u> </u>	\$ 26,080.00	N/A
5. TOTAL (complete only on last page of	of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICA	AL COMMITTEES ONLY:			
SUBTOTAL (this	page) \$ 0.00	TOTAL (complete only or	n last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Repor	ting Period	3. Total this Year
	a. Date(s)	b. Amount(s)	
BRIAN GUNTER 17219 Schoolhouse Road Livingston, LA 70754	06/01/2022	\$25.00	\$85.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
BRIAN GUNTER 17219 Schoolhouse Road Livingston, LA 70754	06/01/2022	\$60.00	\$85.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
PRASHANT GUPTA 8122 Cohn Street New Orleans, LA 70118	06/10/2022	\$198.00	\$198.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
H&H ELECTRICAL SERVICE INC. 2506 Wilder Road Crowley, LA 70526-7024	06/23/2022	\$1,000.00	\$1,600.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
MELANIE HAMBLIN 7350 Jefferson Hwy Baton Rouge, LA 70806-8269	06/29/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
CINDY HAYES 125 Darlene Drive Lafayette, LA 70508	06/08/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 1,373.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only of	n last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor		2. Contributions this Reporting Period		3. Total this Year
		a. Date(s)	b. Amount(s)	
STEWART HEADINGTON PO Bo 62476 Lafayette, LA 70596-2476		06/29/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PAI	RTY COMMITTEE?			
RACHELLE HEBERT 101 Azarex Road Carencro, LA 70520-5659		06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PAI	RTY COMMITTEE?			
RONALD HEBERT 10310 East Admiral Doyle Drive Jeanerette, LA 70544		06/24/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PAI	RTY COMMITTEE?			
SHARON HEWITT 105 Ayshire Court Slidell, LA 70461		06/09/2022	\$138.00	\$138.00
POLITICAL COMMITTEE? PAI	RTY COMMITTEE?			
MICHELLE HIRSTIUS 1238 Marina Drive Slidell, LA 70458-9212		06/14/2022	\$20.00	\$120.00
POLITICAL COMMITTEE? PAI	RTY COMMITTEE?			
LOUIS HOFFPAUIR 207 Sandalwood Drive Lafayette, LA 70507		06/24/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PAI	RTY COMMITTEE?			
4. SUBTOTAL (this page)			\$ 428.00	N/A
5. TOTAL (complete only on last page of	of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICA	AL COMMITTEES ONLY:			
SUBTOTAL (this p	page) \$ 0.00	TOTAL (complete only or	n last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Re	2. Contributions this Reporting Period	
	a. Date(s)	b. Amount(s)	
GERALD HOLLAND 510 9th St NE Springhill, LA 71075-2908	06/08/2022	\$9.00	\$639.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DENISE HOPKINS 244 Evangeline Drive Mandeville, LA 70471	06/04/2022	\$69.00	\$469.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DENISE HOPKINS 244 Evangeline Drive Mandeville, LA 70471	06/25/2022	\$150.00	\$469.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DENISE HOPKINS 244 Evangeline Drive Mandeville, LA 70471	06/25/2022	\$150.00	\$469.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JUAN HOWARD 714 Canberra Road Lafayette, LA 70503	06/25/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
MARTHA HUCKABAY 1615 Homer St Metairie, LA 70005-3223	06/01/2022	\$69.00	\$219.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 537.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY	<u>،</u>		
SUBTOTAL (this page) \$ 0.	00 TOTAL (complete onl	ly on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Rep	2. Contributions this Reporting Period	
	a. Date(s)	b. Amount(s)	
ANDREA HUSBAND 112 Woodrich Lane Lafayette, LA 70507	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
BRYAN HUTCHINSON 705 Rue Bourdeaux Covington, LA 70433-8191	06/24/2022	\$45.00	\$195.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
BRYAN HUTCHINSON 705 Rue Bourdeaux Covington, LA 70433-8191	06/25/2022	\$150.00	\$195.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
NICHOLAS M. JAMES 500 Welham Loop LaPlace, LA 70068	06/25/2022	\$1,200.00	\$4,010.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
LESLIE JAUBERT 119 Queensford Way Youngsville, LA 70592	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
GEORGE JOHNSON 10 Forest Drive Forest Hill, LA 71430-9626	06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)	•	\$ 1,530.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY	:		
SUBTOTAL (this page) \$ 0.0	OO TOTAL (complete only	y on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year	
	a. Date(s)	b. Amount(s)	1	
SUSIE KOSBAB 169 carr dr slidell, LA 70458	06/03/2022	\$138.00	\$138.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
BRUCE KUEHNE 9025 Hill Drive Baton Rouge, LA 70809	06/01/2022	\$69.00	\$69.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
BENJAMIN KUENZEL 1351 Jefferson Street #301 Washington, MO 63090-6449	06/07/2022	\$5,000.00	\$5,000.00	
POLITICAL COMMITTEE? PARTY COMMITTEE? PARTY COMMITTEE?				
LA CABLE TELECOMMUNICATIONS ASSOCIATION PAC (DELTA) 763 North St Baton Rouge, LA 70802-5533	06/23/2022	\$300.00	\$300.00	
POLITICAL COMMITTEE? X PARTY COMMITTEE?				
JEFF LABBE 303 Lexington Parkway Carencro, LA 70520	06/10/2022	\$198.00	\$198.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
JOHN LAMBERT PO Box 247 Saint Rose, LA 70087	06/08/2022	\$69.00	\$69.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
4. SUBTOTAL (this page)		\$ 5,774.00	N/A	
5. TOTAL (complete only on last page of this schedule)			N/A	
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:				
SUBTOTAL (this page) \$300.00	TOTAL (complete only o	n last page of this schedule)		

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

1. Name and Address of Contributor		2. Contributions this Repo	rting Period	3. Total this Year
		a. Date(s)	b. Amount(s)]
JULIE LANDRENEAU 825 East Butcher Switch Road Lafayette, LA 70507		06/25/2022	\$135.00	\$135.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
TISHA LATHAN 42402 WYSNSTONE DR Prairieville, LA 70769-6392		06/09/2022	\$99.00	\$99.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
DRU LEA 14700 Wisteria Lakes Drive Baton Rouge, LA 70818-6000		06/14/2022	\$50.00	\$85.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
STEPHANIE LEBLANC 437 Alonda Drive Lafayette, LA 70503		06/25/2022	\$45.00	\$45.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
TOBY LEBLANC PO Box 82554 Lafayette, LA 70598-2554		06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
ANTHONY LEE 217 Devon Way Youngsville, LA 70592		06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
4. SUBTOTAL (this page)			\$ 419.00	N/A
5. TOTAL (complete only on last page	e of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITIC	CAL COMMITTEES ONLY:			
SUBTOTAL (thi	s page) \$ 0.00	TOTAL (complete only o	on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year	
	a. Date(s)	b. Amount(s)]	
SHERYL LEE 217 Devon Way YOUNGSVILLE, LA 70592	06/23/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
SUMMER LEJEUNE 1414 Hwy 90 W Jennings, LA 70546	06/03/2022	\$60.00	\$60.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
CASEY LELEAUX 404 Farmington Dr Lafayette, LA 70503	06/09/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
CAROL CRESSEND LEVY 801 Magnolia Ridge Road Boutte, LA 70039-3228	06/23/2022	\$1,000.00	\$1,120.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
LOUISIANA ASSOCIATION OF WHOLESALERS PAC PO Box 82531 Baton Rouge, LA 70884-2531 POLITICAL COMMITTEE? X PARTY COMMITTEE?	06/23/2022	\$500.00	\$500.00	
MELODY LOUPE 27600 Louisiana 43 Hammond, LA 70403	06/22/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
4. SUBTOTAL (this page)		\$ 1,695.00	N/A	
5. TOTAL (complete only on last page of this schedule)			N/A	
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:				
SUBTOTAL (this page) \$ 500.00 TOTAL (complete only on last page of this schedule)				

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

1. Name and Address of Contributor 2. Contributions this Reporting		ting Period	3. Total this Year	
	a. Date(s)	b. Amount(s)]	
STEVE LOUPE 27600 Louisiana 43 Hammond, LA 70403	06/22/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
DENISE MABILE 15114 Fieldwood Circle Prairieville, LA 70769	06/24/2022	\$90.00	\$90.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
CHRISTL MAHFOUZ 200 Saddleback Circle Youngsville, LA 70592	06/25/2022	\$350.00	\$850.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
COZETTE MANFRE 126 Thrush Loop LAFAYETTE, LA 70508	06/23/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
BARBARA MANUEL 1505 Hundley Road Eunice, LA 70535	06/25/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
MARIONNEAUX KANTROW LLC 10202 Jefferson Hwy Baton Rouge, LA 70809	06/23/2022	\$600.00	\$600.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
4. SUBTOTAL (this page)		\$ 1,175.00	N/A	
5. TOTAL (complete only on last page of this schedule)			N/A	
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:				
SUBTOTAL (this page) \$ 0.00 TOTAL (complete only on last page of this schedule)				

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

lame and Address of Contributor 2. Contributions this Reporting Period		ting Period	3. Total this Year		
	a. Date(s)	b. Amount(s)	1		
DARRYL MARLBROUGH 116 Celes Lane Lockport, LA 70374	06/25/2022	\$276.00	\$276.00		
POLITICAL COMMITTEE? PARTY COMMITTEE?					
KATHERINE MARTINEZ 957 Unadilla Street SHREVEPORT, LA 71106	06/04/2022	\$45.00	\$45.00		
POLITICAL COMMITTEE? PARTY COMMITTEE?					
MICHAEL MATTE 135 North Demanade Boulevard Lafayette, LA 70503	06/25/2022	\$100.00	\$100.00		
POLITICAL COMMITTEE? PARTY COMMITTEE?					
JOHN MAYER 1000 Robley Drive Lafayette, LA 70503	06/16/2022	\$99.00	\$99.00		
POLITICAL COMMITTEE? PARTY COMMITTEE?					
TONI MCALLISTER 208 Shady Hills Lane Winnfield, LA 71483	06/08/2022	\$60.00	\$60.00		
POLITICAL COMMITTEE? PARTY COMMITTEE?					
ERIN MCANDREW 26967 Lee Ellis Road Denham Springs, LA 70726	06/13/2022	\$45.00	\$45.00		
POLITICAL COMMITTEE? PARTY COMMITTEE?					
4. SUBTOTAL (this page)		\$ 625.00	N/A		
5. TOTAL (complete only on last page of this schedule)			N/A		
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:					
SUBTOTAL (this page) \$ 0.00 TOTAL (complete only on last page of this schedule)					

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor		2. Contributions this Reporting Period		3. Total this Year
		a. Date(s)	b. Amount(s)	
IAN MCGILL 500 Whitebark Drive Lafayette, LA 70508-6362		06/15/2022	\$600.00	\$600.00
POLITICAL COMMITTEE? PARTY	COMMITTEE?			
LIZ MCMANUS 153 Rufus Long Road Winnfield, LA 71483		06/08/2022	\$60.00	\$60.00
POLITICAL COMMITTEE? PARTY	COMMITTEE?			
DEBBIE MELVIN 322 Cedar Tree Drive Thibodaux, LA 70301		06/13/2022	\$99.00	\$99.00
POLITICAL COMMITTEE? PARTY	COMMITTEE?			
MARLENE MILLER 518 Jefferson Park Avenue Jefferson, LA 70121		06/02/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY	COMMITTEE?			
MARGARET MILLETT 8008 Bluebonnet Boulevard Baton Rouge, LA 70810-7800		06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY	COMMITTEE?			
ESTHER MONLEZUN 1801 Charles Dr. Lake Charles, LA 70605		06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY	COMMITTEE?			
4. SUBTOTAL (this page)			\$ 918.00	N/A
5. TOTAL (complete only on last page of thi	s schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:				
SUBTOTAL (this page) \$ 0.00 TOTAL (complete only on last page of this schedule)				

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year	
	a. Date(s)	b. Amount(s)		
ALLAN MOORE 309 Brianna Lane Broussard, LA 70518	06/24/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
ELAINA MOORE 309 Brianna Lane Broussard, LA 70518	06/24/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE? PARTY COMMITTEE?				
RUTH MOORE 309 Brianna Lane Broussard, LA 70518	06/24/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
JESSIE MORTON 208 Capilano Lane Broussard, LA 70518	06/13/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
NEXTERA ENERGY RESOURCES LLC 700 Universe Blvd Juno Beach, FL 33408-2657	06/29/2022	\$12,000.00	\$12,000.00	
POLITICAL COMMITTEE? PARTY COMMITTEE? ——				
SOLANGE NORIEGA 404 Farmington Drive Lafayette, LA 70503-8413	06/25/2022	\$225.00	\$285.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
4. SUBTOTAL (this page)		\$ 12,405.00	N/A	
5. TOTAL (complete only on last page of this schedule)			N/A	
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:				
SUBTOTAL (this page) \$ 0.00 TOTAL (complete only on last page of this schedule)				

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	e and Address of Contributor 2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
RICKEY NOWLIN 1005 Williams Avenue Natchitoches, LA 71457-5235	06/12/2022	\$99.00	\$920.60
POLITICAL COMMITTEE? PARTY COMMITTEE?			
BRUCE ODELL 221 Greenwood Drive Lafayette, LA 70506-5522	06/24/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JOHN ODELL 413 Tudor Avenue River Ridge, LA 70123	06/07/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
SUSAN PALUMBO 111 Warwicke Dr. Lafayette, LA 70508	06/15/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
TRICIA PARKER 215 Souvenir Gate Lafayette, LA 70506	06/02/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
CHARLES PEARSON 908 N Dugas Rd Lafayette, LA 70507	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 417.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY	•		
SUBTOTAL (this page) \$ 0.0	00 TOTAL (complete onl	y on last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

1. Name and Address of Contribut	tor	2. Contributions this Rep	orting Period	3. Total this Year
		a. Date(s)	b. Amount(s)	
PAULA PEARSON 908 N Dugas Rd Lafayette, LA 70507		06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
JUSTIN PHILLIPS 327 Clyde Road Trout, LA 71371-4442		06/15/2022	\$25.00	\$375.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
CHAD PITRE 231 South Union St. Opelousas, LA 70571		06/13/2022	\$45.00	\$45.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
JUNE PITRE 215 Hulin rd Broussard, LA 70518		06/06/2022	\$138.00	\$138.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
MARENA PIZZOLATTO 400 Apache Road Houma, LA 70360		06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
CHANCEY PORTER 67 Willow Wood Cir SE Atlanta, GA 30317-2817		06/11/2022	\$1.67	\$2.84
POLITICAL COMMITTEE?	PARTY COMMITTEE?			
4. SUBTOTAL (this page)			\$ 299.67	N/A
5. TOTAL (complete only on last p	page of this schedule)			N/A
6. CONTRIBUTIONS FROM POL	ITICAL COMMITTEES ONLY:			
SUBTOTAL	(this page) \$ 0.0	0 TOTAL (complete only	on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

1. Name and Address of Contributor	r		2. Contributions this Reporting Period		3. Total this Year
			a. Date(s)	b. Amount(s)	
TRACEY POWELL 204 Village Circle Suite 3 Slidell, LA 70458			06/05/2022	\$90.00	\$90.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?				
KIMBERLY POWERS 12515 Sullivan Road Baton Rouge, LA 70818-2320			06/06/2022	\$30.00	\$105.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?				
STEVEN QUEYROUZE 923 Filmore Avenue New Orleans, LA 70124			06/03/2022	\$138.00	\$138.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?				
SUSAN RABB 107 Lee Avenue Vidalia, LA 71373			06/28/2022	\$15.00	\$249.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?				
GROVER JOSEPH REES PO Box 70 Breaux Bridge, LA 70517-0070			06/23/2022	\$45.00	\$2,620.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?				
GROVER JOSEPH REES PO Box 70 Breaux Bridge, LA 70517-0070			06/28/2022	\$75.00	\$2,620.00
POLITICAL COMMITTEE?	PARTY COMMITTEE?				
4. SUBTOTAL (this page)				\$ 393.00	N/A
5. TOTAL (complete only on last page	ge of this schedule)				N/A
6. CONTRIBUTIONS FROM POLIT	ICAL COMMITTEES O	ONLY:			
SUBTOTAL (t	his page)	\$ 0.00	TOTAL (complete only o	n last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year	
	a. Date(s)	b. Amount(s)]	
WILLIAM RENAUDIN 4404 Burke Dr Metairie, LA 70003-2812	06/28/2022	\$9.75	\$302.25	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
LANA RHINEHART 304 Burdin Road Lafayette, LA 70508	06/24/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
BENJAMIN RICHARD 203 TABB RD SCOTT LA, LA 70583	06/07/2022	\$84.00	\$920.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
BECKY ROBERTS 3221 Morning Glory Avenue Baton Rouge, LA 70808	06/10/2022	\$35.00	\$35.00	
POLITICAL COMMITTEE? PARTY COMMITTEE? ——				
JACKSON ROBINSON 311 Arnould Boulevard Lafayette, LA 70506	06/03/2022	\$138.00	\$138.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
VIVIAN ROMERO 14677 Old Spanish Trail Paradis, LA 70080	06/14/2022	\$90.00	\$90.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
4. SUBTOTAL (this page)		\$ 401.75	N/A	
5. TOTAL (complete only on last page of this schedule)			N/A	
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:				
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only o	n last page of this schedule)		

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
CAROL ROONEY 233 Orion Avenue Metairie, LA 70005	06/12/2022	\$198.00	\$198.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
KATHY ROUSSEAU 301 Rue De Canne Broussard, LA 70518	06/07/2022	\$120.00	\$120.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
CONNIE SAMPOGNARO 510 Griggs Road Calhoun, LA 71225	06/07/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
ERIN SANDEFUE 24411 Oma Harris Lane Denham Springs, LA 70726	06/10/2022	\$60.00	\$60.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JAMEY SANDEFUR 24411 Oma Harris Lane Denham Springs, LA 70726	06/11/2022	\$60.00	\$60.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
ANNA SAVOY 130 Emily Cir Lafayette, LA 70508	06/07/2022	\$69.00	\$138.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)	-	\$ 576.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only o	n last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Re	porting Period	3. Total this Year
	a. Date(s)	b. Amount(s)	
ANNA SAVOY 130 Emily Cir Lafayette, LA 70508	06/07/2022	\$69.00	\$138.00
POLITICAL COMMITTEE? PARTY COMMITTEE? PARTY COMMITTEE?			
DAVID SCHILLING 203 Lakynn Lane Hahnville, LA 70057	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
CHARLES SCHMITZ 213 South Haynes Street Poplarville, MS 39470	06/10/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
SCOTT SCHUMACHER P.O. Box 52905 Lafayette, LA 70505	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE? ——			
JANET SCHWARY 1041 Helios Ave Metairie, LA 70005-1545	06/25/2022	\$130.00	\$250.00
POLITICAL COMMITTEE? PARTY COMMITTEE? ——			
SABRINA SCOTT 104 Summertyme Dr Youngsville, LA 70592	06/16/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE? ——			
4. SUBTOTAL (this page)		\$ 379.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00) TOTAL (complete on	ly on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	1
CHARLES SHARMA 100 CHILTON DRIVE BROUSSARD, LA 70518	06/09/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DIANA SMITH 305 Starboard Loop Carencro, LA 70520	06/22/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DONALD SMITH 120 Ransome Street Lafayette, LA 70501	06/25/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JANE SMITH 106 Heron Walk Bossier City, LA 71111-5300	06/02/2022	\$69.00	\$336.90
POLITICAL COMMITTEE? PARTY COMMITTEE?			
CONNIE SONNIER PO Box 1292 Rayne, LA 70578	06/02/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
SOUTHWEST LOUISIANA ELECTRIC MEMBERSHIP CORPORATION 2727 SE Evangeline Thwy Lafayette, LA 70508	06/23/2022	\$1,000.00	\$1,500.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 1,297.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only o	n last page of this schedule)	

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year	
	a. Date(s)	b. Amount(s)	1	
SUSAN SPENCIL 169 Antigua Drive Lafayette, LA 70503	06/23/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
DORIS SWARTHOUT 16487 Walk Around Avenue Prairieville, LA 70769-3523	06/24/2022	\$45.00	\$45.00	
POLITICAL COMMITTEE? PARTY COMMITTEE? PARTY COMMITTEE?				
TAYLOR PORTER BROOKS & PHILLIPS LLP PO Box 2471 Baton Rouge, LA 70821-2471	06/23/2022	\$500.00	\$2,000.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
POLLY THOMAS 3230 Metairie Court Metairie, LA 70002-5018	06/11/2022	\$99.00	\$99.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
TODD THOMAS 1630 Des Peres Road Suite 140 Saint Louis, MO 63131-1871 POLITICAL COMMITTEE? PARTY COMMITTEE?	06/21/2022	\$5,000.00	\$5,000.00	
SHARON THORNTON 106 Harvest Hill Trail Pollock, LA 71467	06/25/2022	\$50.00	\$50.00	
POLITICAL COMMITTEE? PARTY COMMITTEE?				
4. SUBTOTAL (this page)		\$ 5,739.00	N/A	
5. TOTAL (complete only on last page of this schedule)			N/A	
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:				
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only of	on last page of this schedule)		

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)]
SHARON B THORNTON 106 Harvest Hill Trail Pollock, LA 71467	06/10/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
SYLVIA TREVINO 6209 Cameron Street Scott, LA 70583	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
NEILSON TUTTLE 201 South College Road Lafayette, LA 70503	06/25/2022	\$45.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
NEILSON TUTTLE 201 South College Road Lafayette, LA 70503	06/25/2022	\$45.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
STEVE UMLING 5881 OLD MOORINGSPORT RD SHREVEPORT, LA 71107	06/06/2022	\$60.00	\$60.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
SANDRA URBAN 418 Soldier Road Rayne, LA 70578	06/10/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 285.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only c	on last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
ANDREE VALETON 4205 Saint Paul Drive Kenner, LA 70065	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
GAY VANETTEN PO Box 60026 Lafayette, LA 70596	06/07/2022	\$90.00	\$90.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JOHN VANWAY 715 Woodvale Avenue Lafayette, LA 70503	06/10/2022	\$198.00	\$198.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
MICHAEL VINCENT 8141 Village Lake Avenue Baton Rouge, LA 70820-8774	06/07/2022	\$75.00	\$2,335.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
RICK WARD 3741 Highway 1 south Port Allen, LA 70767	06/24/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
STUART WEATHERFORD 1508 West Sale Road Lake Charles, LA 70605	06/10/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 498.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only o	n last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor	2. Contributions this Reporting Period		3. Total this Year
	a. Date(s)	b. Amount(s)	
SUZANNE WHITE 413 Kimbro Dr Baton Rouge, LA 70808-6037	06/16/2022	\$20.00	\$340.76
POLITICAL COMMITTEE? PARTY COMMITTEE?			
LENAR WHITNEY 300 Wilson Ave Houma, LA 70364-3142	06/02/2022	\$75.00	\$3,184.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
TAMMY JO WILLIAMS 30792 N. Walker Rd Walker, LA 70785	06/09/2022	\$138.00	\$138.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
JOLIE WILLIAMSON 311 Arnould Boulevard Lafayette, LA 70506	06/03/2022	\$69.00	\$69.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DEBBIE WILTSE 700 Rosedown Lafayette, LA 70503	06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
DENNIS WIMMERT 4725 Highway 28 East Pineville, LA 71360-4730	06/15/2022	\$5,000.00	\$5,000.00
POLITICAL COMMITTEE? PARTY COMMITTEE?			
4. SUBTOTAL (this page)		\$ 5,347.00	N/A
5. TOTAL (complete only on last page of this schedule)			N/A
6. CONTRIBUTIONS FROM POLITICAL COMMITTEES ONLY:			
SUBTOTAL (this page) \$ 0.00	TOTAL (complete only o	n last page of this schedule)	

Form 202, Rev. 3/98, Page Rev. 3/98

The following information must be provided for all contributions **received** by the committee during this reporting period, except for in-kind contributions, whether received from a political committee or some other person or entity. Contributions **made** by the committee are reported on SCHEDULE E-3: CONTRIBUTIONS MADE TO CANDIDATES. Information on in-kind contributions is reported on SCHEDULE A-2: IN-KIND CONTRIBUTIONS. In Column 1, check "yes" if the contributor is a political committee and "no" if not. For anonymous contributions, see SCHEDULE F. Totals and subtotals at bottom of the page are *optional*. Completion of totals and subtotals may assist in calculating totals that must be reported on the Summary Page.

Name and Address of Contributor		2. Contributions this Reporting Period		3. Total this Year
		a. Date(s)	b. Amount(s)	1
JIM WINNER 14201 Jamestown Blvd Baton Rouge, LA 70810		06/22/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
MARGARET WINNER 14201 Jamestown Boulevard Baton Rouge, LA 70810		06/23/2022	\$45.00	\$45.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
MARK WRIGHT 47 Patricia Dr Covington, LA 70433-1138		06/11/2022	\$1,000.00	\$2,249.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
MARK WRIGHT 47 Patricia Dr Covington, LA 70433-1138		06/11/2022	\$99.00	\$2,249.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
MAIA I. YORDANOV 441 Lynnmeade Road Gretna, LA 70056-7236		06/26/2022	\$50.00	\$810.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
RANDY YOUNG 1540 Normandy Dr. Baton Rouge, LA 70806-7645		06/23/2022	\$300.00	\$800.00
POLITICAL COMMITTEE? PARTY COM	MITTEE?			
4. SUBTOTAL (this page)			\$ 1,539.00	N/A
5. TOTAL (complete only on last page of this so	hedule)		\$ 96,500.67	N/A
6. CONTRIBUTIONS FROM POLITICAL COMI	MITTEES ONLY:			
SUBTOTAL (this page)	\$ 0.00	TOTAL (complete only of	n last page of this schedule)	\$ 800.00

SCHEDULE C: DEBTS & OBLIGATIONS (OTHER THAN LOANS) DEBTS OWED BY THE CAMPAIGN DEBTS OWED TO THE CAMPAIGN Use this schedule to report either debts owed by the committee or debts owed to the committee, checking the appropriate line above. If the campaign has experienced both types of debts, then copy this page and report them separately. Never combine debts owed by and debts owed to on the same page. Debts should be reported on this schedule until repaid. When repayments are made by the committee a corresponding entry should be made on SCHEDULE E-1: GENERAL EXPENDITURES. When repayments are received by the committee a corresponding entry should be made on SCHEDULE A-3: OTHER RECEIPTS. 2. Outstanding Bal-4. Payment(s) 1. Name and Address of Creditor/Debtor 3. Amount(s) Incurred 5. Outstanding Balance ance Beginning This This Period Made This Period at Close of This Period Period **BIENVENU FOSTER RYAN & O'BANNON** \$9,726.78 \$0.00 \$0.00 \$9,726.78 LLC 1010 Poydras St. Suite 2870 Reason Debt Incurred: LEGAL FEES -REDISTRICTING

SCHEDULE E-1: GENERAL EXPENDITURES

Use this schedule to report information on most committee expenditures, during this reporting period. If the expenditure directly benefited a particular candidate(s), list the candidate(s)' name under Item 1. However, (1) in-kind expenditures, and (2) expenditures to candidates or their committees should be reported on SCHEDULES E-2 and E-3, respectively, and should not be reported on this schedule. An "expenditure" is any payment made for the purpose of supporting or opposing the election of a candidate for public office or supporting or opposing a proposition or question submitted to the voters. Expenditures include monies spent for the committee's general operating expenses. Any payments made that are not "expenditures" should be reported on SCHEDULE E-4: OTHER DISBURSEMENTS. Totals and subtotals at bottom of page are *optional* but will assist in completing the Summary Page.

1. Name and Address of Recipient	2. Expenditures this Reporting Period			
	a. Date(s)	b. Purpose(s)	c. Amount(s)	
ANEDOT INC. 1340 Poydras St Suite 1770 New Orleans, LA 70112-5204	06/03/2022	CREDIT CARD PROCESSING FEES	\$ 13.37	
ANEDOT INC. 1340 Poydras St Suite 1770 New Orleans, LA 70112-5204	06/08/2022	CREDIT CARD PROCESSING FEES	\$ 80.18	
ANEDOT INC. 1340 Poydras St Suite 1770 New Orleans, LA 70112-5204	06/10/2022	CREDIT CARD PROCESSING FEES	\$ 227.76	
ANEDOT INC. 1340 Poydras St Suite 1770 New Orleans, LA 70112-5204	06/14/2022	CREDIT CARD PROCESSING FEES	\$ 212.53	
ANEDOT INC. 1340 Poydras St Suite 1770 New Orleans, LA 70112-5204	06/21/2022	CREDIT CARD PROCESSING FEES	\$ 307.69	
ANEDOT INC. 1340 Poydras St Suite 1770 New Orleans, LA 70112-5204	06/24/2022	CREDIT CARD PROCESSING FEES	\$ 145.30	
ANEDOT INC. 1340 Poydras St Suite 1770 New Orleans, LA 70112-5204	06/28/2022	CREDIT CARD PROCESSING FEES	\$ 162.44	
ANEDOT INC. 1340 Poydras St Suite 1770 New Orleans, LA 70112-5204	06/29/2022	CREDIT CARD PROCESSING FEES	\$ 184.62	
3. SUBTOTAL (optional)		1	\$ 1,333.89	

SCHEDULE E-1: GENERAL EXPENDITURES

Use this schedule to report information on most committee expenditures, during this reporting period. If the expenditure directly benefited a particular candidate(s), list the candidate(s)' name under Item 1. However, (1) in-kind expenditures, and (2) expenditures to candidates or their committees should be reported on SCHEDULES E-2 and E-3, respectively, and should not be reported on this schedule. An "expenditure" is any payment made for the purpose of supporting or opposing the election of a candidate for public office or supporting or opposing a proposition or question submitted to the voters. Expenditures include monies spent for the committee's general operating expenses. Any payments made that are not "expenditures" should be reported on SCHEDULE E-4: OTHER DISBURSEMENTS. Totals and subtotals at bottom of page are *optional* but will assist in completing the Summary Page.

1. Name and Address of Recipient	2. Expenditures this Reporting Period		
	a. Date(s)	b. Purpose(s)	c. Amount(s)
CAPITOL GROCERY 701 SPANISH TOWN RD BATON ROUGE, LA 70802	06/01/2022	MEETING EXPENSE - FOOD/BEVERAGE	\$ 34.03
RHETT DAVIS 19213 S Trent Jones Baton Rouge, LA 70810-6019	06/01/2022	TRAVEL - MILEAGE REIMBURSEMENT	\$ 78.39
KAP PRINT LLC 220 QUINN DRIVE Dripping Springs, TX 78620-5109	06/29/2022	DIRECT MAIL COSTS	\$ 3,059.98
MARSHALL MEEK 352 N. Tangelwood Dr. Minden, LA 71055-5633	06/01/2022	TRAVEL - MILEAGE REIMBURSEMENT	\$ 67.86
OFFICE DEPOT 7540 Bluebonnet Blvd Baton Rouge, LA 70810-1627	06/16/2022	OFFICE EXPENSE	\$ 23.03
REPUBLICAN PARTY OF LOUISIANA - STATE 530 Lakeland Dr Ste 215 Baton Rouge, LA 70802-4441	06/30/2022	ALLOCATION TRANSFER	\$ 24,062.69
REPUBLICAN PARTY OF LOUISIANA - STATE 530 Lakeland Dr Ste 215 Baton Rouge, LA 70802-4441	06/30/2022	ALLOCATION TRANSFER	\$ 7,508.43
GRANT SCHEERINGA 313 EAST WILLIAM DAVID PKWY Metairie, LA 70005-3309	06/01/2022	TRAVEL - MILEAGE REIMBURSEMENT	\$ 69.03
3. SUBTOTAL (optional)	\$ 34,903.44		
4. TOTAL (optional - complete only on last page of this schedu	.1-)		

SCHEDULE E-1: GENERAL EXPENDITURES

Use this schedule to report information on most committee expenditures, during this reporting period. If the expenditure directly benefited a particular candidate(s), list the candidate(s)' name under Item 1. However, (1) in-kind expenditures, and (2) expenditures to candidates or their committees should be reported on SCHEDULES E-2 and E-3, respectively, and should not be reported on this schedule. An "expenditure" is any payment made for the purpose of supporting or opposing the election of a candidate for public office or supporting or opposing a proposition or question submitted to the voters. Expenditures include monies spent for the committee's general operating expenses. Any payments made that are not "expenditures" should be reported on SCHEDULE E-4: OTHER DISBURSEMENTS. Totals and subtotals at bottom of page are *optional* but will assist in completing the Summary Page.

1. Name and Address of Recipient	Expenditures this F a. Date(s)	c. Amount(s)	
UNITED STATES POSTAL SERVICE 750 Florida St Baton Rouge, LA 70801-1714	06/02/2022	POSTAGE	\$ 785.24
3. SUBTOTAL (optional)			\$ 785.24
4. TOTAL (optional - complete only on last page of this schedule)			\$ 37,022.57

SCHEDULE E-4: OTHER DISBURSEMENTS

This schedule is used to report those disbursements that are not "expenditures"; that is, monies paid by the committee that are not paid for the purpose of supporting, opposing or otherwise influencing the nomination or election of a candidate to public office or supporting or opposing a proposition or question submitted to the voters. Examples include the payment of taxes or the refund of contributions. Disbursements should be reported on this schedule only if they have not been reported elsewhere in this report. The explanation of the disbursement should state the reason the payment was made by the committee.

1. Name and Address of Recipient	2. Date	3. Explanation	4. Amount
CHERI BLANCHARD 3389 Caleb Drive Houma, LA 70360-7713	06/13/2022	Refund of Contribution	\$ 90.00
BRENDA DESORMEAUX 10740 Placide Rd Maurice, LA 70555-4046	06/06/2022	Refund of Contribution	\$ 60.00
5. Total OTHER DISBURSEMENTS during this reporting period			\$ 150.00